fEAEKE / Diaphragm Valves

VDV37UB &35l

VIGOUR

| =miss

« BRTHSAFIERSIRETESS. ZNSESHSRER

- EBEREN, BRNBRIEIITEE,

ST RERES

o FRHENERE VS001A TZHEE (FIIER)

< AR, BRFETFRORES

« AAVHFSEE
« EPFREESRMERLE

o FREREERAELA PCTFE, Vespel® @ik

EE / EH%R

40°C, 17bar

80°C, 15.1bar

I Rs%

BRATIEES:
SEIITIEES:
BATIERE.
FENEE:
%5

B

R

EERY

FiR:
HERhRER:
HNERhRER:
RESE

HE:

—— PCTFE HEE
————— Pl / PFA {@EE

250 psig (17bar)

80~100 psig (5.5~6.8bar)
-40°F ~ 159°F (-40°C ~ 71°C)
10uin. Ra

see ordering info

Elgiloy®

PCTFE

AL

<1x10° mbar I/s He
<1x10° mbar I/s He
Cv=2.8

£ 1.36kg (BURTERELET)

172" FapEd

= =y
|




VIGOUR Diaphragm Valves / [Ei5HE
VDV37UB 7%l

=52~ (mm)

2-M5
AR DP6

7j — il?/:zl QP;" 0 clze 900
Ay ol " .
IPUNENE

]
B
Fapiy

A

I R AR RS (mm)

‘ (mm) A B C E F G L H
| 1/2"_VFS 9N 10.2 ®57 [ 63.2 142 | 439 | 377 | 254 | 1346 | 80
‘ 5 1/2" VFS RIBL 102 57 | 63.2 | 142 | 439 | 37.7 | 254 | 1346 | 80

i - 3/4" VFS MBS 12.8 P57 | 63.2 | 142 | 439 | 37.7 | 254 | 162.6 80
2-M5 3/4" VFS PRIBEL 12.8 O57 | 63.2 | 142 | 439 | 37.7 | 254 | 162.6 80
= Al DP6
Il

SREREEAR
ﬂ@g@ Lo SEE (%)
@ | 7%@@ Lt | WO AORT JEo—
G m
L

(mm) A B C D E F G L H
1/2" VFS MBS 102 | ®63 | 632 | 142 | M5x0.8 | 439 | 37.7 | 254 | 1346 | 125
1/2" VFS pigsy 102 | ®63 | 632 | 142 | M5x0.8 | 439 | 37.7 | 254 | 1346 |125
3/4" VFS 5MBEL 128 | ®63 | 63.2 | 142 | M5x0.8 | 439 | 37.7 | 254 | 162.6 | 125
3/4" VFS piger 128 | ®63 | 63.2 | 142 | M5x0.8 | 439 | 37.7 [ 254 | 162.6 | 125

IiTass
VDV37UBS -M - MV8 - MV8 - VS -LO

#R —J L il

S: 316L =8 BFFR
SLV: 316L —iRiAkE LO: B FiAik Hheielie

IKzn75 =0 — HEIREIE IR
M: FzhE 2K PCTFE (tR/f)
PC. SzhE! (EiF) VS: Vespel®

im iz
FV8: 1/2" VFS P24
MV8: 1/2" VFS M8t
FV12: 3/4" VFS PIiBLY
MV12: 3/4" VFS JMEL

* B, EEAHETE.




